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Solve the following trigonometric equations:
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What about graphs of other
trigonometric functions ???



Graph the Tangent Function

Graph the function y = tan 8 for —27 < 6 < 27. Describe its
characteristics.

Angle Measure 0° 45° 9%- 135 180° 225° 50" 315° 360° w

yoodraen |0 | E-1 © | E~I O M’lﬂ

1 ()

éq.\s-. -;J— r(b’ ‘3
~

Y %)




Key Ideas

@ You can use asymptotes and three How can you YA | §y=tanx | ]

points to sketch one cycle of a tangent ~ determine the

. 3 location of the
function. To graph y = tan x, draw one

@

) asymptotes for 6
asymptote; draw the points where the function
v=—1,y=0,and y = 1; and then y=tan x? 4 ’
draw another asymptote. | | |
2
e The tangent function y = tan x has the following
. . o A
characteristics: - ¥ /x| 3n /x| Gn X
: .
= The period is . 2l > ¥ EI :
= The graph has no maximum or minimum values. 4
= The range is {y | v € R}.
-6
= Vertical asymptotes occur at x = g +nm,nelL
—8
-Thedomainis{X|XqEg+m'r,X€R,n€I}. TSN '

= The x-intercepts occur at x = nw, n € L.

= The y-intercept is 0.




What would the graph of
cot 0 look like?

REMEMBER:

tan x =

cotx

where tan x =0,
cot x 1s undefined
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Graphs of Other Trigonometric Functions

y =sin 0
“‘L """ f """ """ What would the graph of
L b eseOlooklike?
oo N A S o
\
!

where sin x = 0,
csc x 1s undefined

y = sin X Yy = CSC X
4
2
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y=cos 0
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- ----- ----- What would the graph of
b sec 0 look like?

REMEMBER:
1
sect =
cosd

where cos x =0,
sec x 1s undefined

y = COS X y=s8€CX
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inusoidal functions

- properties: domain/range, amplitude, period, phase shift,
vertical translation, eq'n of sinusoidal axis,
mapping notation.

- sketching equation in standard form.

finding the function (both a sine/cosine) given a graph

solving trigonometric equations where period is not 360

applications of sinusoidal functions.

- sketch

- develop a function

- use function to answer question

sketches of all SIX trigonometric ratios
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